Lior Silberman’s Math 100 5
2. LIMITS.ASYMPTOTES, CONTINUITY (11/9/2024)

Goals.

(1) Limits of functions

(2) Existence and nonexistence of limits: blowup

(3) Asymptotes

(4) Continuity work o> o \
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Math 100A — WORKSHEET 2
LIMITS. ASYMPTOTES, AND CONTIJUITY
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(1) Review of asymptotics: analyze the expression %223+ asx — 00, z — 0,

r — —OQ.
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(2) Either evaluate the limit or explain why it does not exist. Sketching a
graph might be helpful.
(a) limys (2° — 2) = |2~ S= [0

Date: 11/9/2024, Worksheet by Lior Silberman. This instructional material is excluded from the terms of UBC Policy 81.
1



Liwits
Soy & 1y dedined nauv 0 (ow oft  ond right)
%ﬂ_coqu»“»): \(w ‘F(x) \$ H\a \Mlm 7‘ "wouU (4'}&4’ <ﬁa lww it a.

X3 o ,{\\7 yex
, X Y - L
St Ly 5= 1) il
| 7
ﬂra\(%(ﬂa’, /\3‘9 '
3
Q ﬂYﬁ‘%\\ éy \J’ .
Sone %mcﬁ\’(m A / . )
+ 4 O/ >>
AR L 1= £ | |

AR «fron, (b | 3R o Ww 60 Does Ml’ orisd

Wn 69 ; -8 ;
x:’n*#() \éﬁl‘jrﬁr (m %’\m__l{ \/elm\ DA€

@&\» $,C ")’uw:f3” {h,ﬁ



8Yow'ig A ALoftnes by ’forhhb nls v t[\'»c&.o(v’h, a)
b Hon  Um £09-{(a)

X4

Bk b paphs L B0

X p*
L\‘WDA f)  DNE
X |
IR S VU (i o Mww)

X3P~ Seh Se

ﬂz g:: HX)M%) Sow £ s C@hﬁmow "+ a
(-('n)on‘r’\_e

/ .
Y

B

L "Y’W" oV b b '
s contHnu fH




(/Z 0<z<l1
(b) limy_1 f(z) where f(z) = < 3 r =1
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(3) Let f(z) = 52
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(a) (Final 2014) What is limg_,3 f(x)?
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(b) What about lim,_, 4 f(z)?
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(9) (“Gluing functions”) In each problem find the value of the constant & such
that the function is continuous.
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